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"WHEN THE SUM of two numbers multiplies their difference --
(@+ha—1bh
—- then the product is the difference of their squares:

B

+ha—bh

For, the like terms will cancel. (Lesson 16))
Symmetically, the difference of two squares can be factored:
2= 25= (et 5)(x—5)
5 is the square of x. 25 is the square of 5.
Example 1. Multiply (- +2)(3 — 2).

Solution. Recognize the form: (a+ 5)(a — 5). The product will be the
difference of two squares:

(A +D(A =2 =64
56 is the square of 5. 4 is the square of 2.

Upon secing the form (a + 5)(a — ), the student should #0# do the
FOIL method. The student should recognize immediately that the
product will be 22 — /2.
That is skill in algebra. o
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Upon secing the form (a + 5)(a — ), the student should #0? do the -
FOIL method. The student should recognize immediately that the
product will be 22 — /2.
That is skill in algebra.
And the order of factors never matters:
(@+ha—h=@-Ha+h=a—R
Problem 1. Write only final product..
& (xt9(x—9)=>2—81 B p+I0-9=r2-2
o (Gx=1)(6x+1) =362 -1 Y G+N@H-N=92-49
9 (B8 +8) = x5 — 64 9 (o + 106y — 10) = x252 — 100
2 — B (592 + 28) = _
9 PTIFEDTH o
Problem 2. Factor.
2) 32— 100 = (x +10)(x— 10) b) 2~ 1=+ D — 1)
O 1-42=(1+29(1—29 d) 25792 = (5m + 35)(5m — 3n)
S S LA A0TEE €) 36—36=(3+6)x*—6) f) y*—144 = (2 +12)(»2 — 12) ©
5 e
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€ X8=36=(3+6)(F—6) f) yF—144 =(2+12)(2 - 12)
2 B 0= A+ (A — %) B) WP - 1=+ D - 1)

Problem 3. Factor completely.

o) o=t = (222~ )
= (@ + R+

b 1-S=1+H1- )
SA+AA+AA- D
SA+AA+ DA+

Problem 4. Completely factor each of the following. First remove a
common factor. Then factor the difference of two squares.

2) 92 =xZ =x(P - D =x(y+ 0~

b) 82— 72 = 8(x2 — 9) = 8(x + 3)(x — 3)

Q64— = 64— D =B +IB—

& K= s = (2= D) = (s + (s — 1)

) 3272 — 505 = 2n(16m2 — 25n%) = 2n(4m + 5n)(4m — 5)
£ 5xh3 — 515 = 5150t — 1) = 515(x2 + Dl + Dix— 1)





